Reticolato 2 a2

Nome:

Usa la moltiplicazione del reticolo per risolvere ogni problema.
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Reticolato 2 a2 Nome: Soluzioni
Usa la moltiplicazione del reticolo per risolvere ogni problema. Risposte
1) _ 2) _ 3) _
43 x 55 = 50 x 53 = 92x51= n 2 365
4 3 5 0 9 2
1 10 1,7
2 5 2/,/ 5 4 s |2 2.650
) 0 5 - 0 . 5.0
2 1 1 o 0 o . 3. 4.692
0 5[ ° "5 ol® ol 2"
3 6l = 6 - . 3212
6 5 5 , 0 9 2
5. 1.140
4) _ 5) _ 6) _
73 x 44 = 20x 57 = 97 x90= 6 8730
7 3 2 0 9 7
2 1 4 1 /,',/ 0 5 8 6 ,,’I, 9 7 5022
3 8 2 1 0 0 3 1.7 3
2 1 1 .o 0 0 8. 3.276
8 2| ! 4 0|’ ol 0]°
2 1.7 7 ~
< S - 1.219
1 2 4 70 3 0 %
10. 3.034
7) 8) 9)
81 x62= 91x36= 23x53=
11. 9.306
8 1 9 1 2 3
4 0. s 2 7107 1 Lo ls [z 4628
5 8 6 3 |7 3 1 0|~ 5
1 0 A5 o 0 0o .
2 6 213
0 6 2 7 ) 6 2 6 ,," 9
2 2 7 .76 1 9
10) 74x a1 = 1) 99x04= 12) 5y xg89=
7 4 9 9 5 2
1 8 1,7
2 4 8 9 4 ek
3 8 6 9| 1 1 4 0| 6
0 0 A3 73 4 1
1 4 29
0 7 4 3.~ 6 6 6 5 ’," 8
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